ERAF— SRR AE—HOE

FE=ABMTAN 20, TR TMRAEBH=Z/ATE, HENEN —th
BRREMNE R, BREE MEGY, 4 AEE—F, B4 R0T, RS
Bl1 =B, EAABCT ,AB = AC,Z A=, DHACL—E,/DBC =
S50P,EHAB E—% ,/ ECB = 4°, £iE.ED = EB.
iE8 H £ DBC = 507,750
£ BDC = 5P = / DBC

B EL

BC = CD
f L ECB = 4&r, W[ CE | BD.
W EC X BD WP ELR. B LA

ED = EB

B2 B2, EAABCY AB = AC, /A =2P,DHAC L— 4%,/ DBC =
S(P,E4#AB X — %,/ ECB = 2°, % / BDE th & 4.
M FfEALBCD 9, EH BC = DC.1E ABCE 1,55 EC = BC.filU
Ch = CE = CB
Bi C 35 & BDE (5. LA

/BDE = %43@ T

3 HEADABCF . AB = AC,/A =2°,DHAC E— %, /DBC = 6F ,E
% AB L.~ %, /ECB = 5°, £ / BDE ¥ #.

B B3 E NEXTACHMHRE,E EFA.EB,EC,ED,EE.BA
AFEECRHIE=F,BE JECHIWEL, D b DABE IR H

JAE'D = %JAE’B - 5P

nig
ZAED = 50°
T
£ BDE = ALAED - /ABD = 3(P
$l4 ELABCYW,AB = AC,/A =2°,DHAC E—3%,/DBC = &, E
A AB L—%5,/ECB = 3. Kif:EC = ED.
iR WE 4,5 DYECB WIPATRZEAB T F 3% CFEBD TG, EG. 5
M ADFG 5 AGBC ¥IRSH =K, EC & BG T ER 4 EG = BE.FiL)
Z EGB = /EBGC = AP
H
Z BEG = 2/ BEC = 14(F
74
Z FEG = &r = LEFG
)N}
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EG = FG
ATl
EC = GD
/BDE = %ZEGB =10
M
L EDC = 5(° = ZECD
4

EC = ED
$1S £ AABC¥,AB = AC, /A = 2°,DAHAC L— %,/ DBC = 7P, E
HAB E—% ,/ECB = 50°,5Kif:4D = DE = EB = BC.
iERA NI 5, L BC —iAE AABC WAETE A FBC, 3% FA, FD,n[Hl AF
K BC WIXEELR , / FAB = 1(P = /DBA,/ FBA = 20° = /DAR, % ADAB L
A FBA,f8 AD = BF,U[RI DF // AB.FrLA
L FDC = / BAC = 2P = 2,/ FAD

FB DF = AD

N DF = BF = BC = BE
H i, DERF R .

# DE = EB = BF
# AD = DE = EB = BC

Ble6 4 AABC¥ ,AB = AC, A =2AP,DHAC L— 5.,/ DBC = 1, E
4 ABL— %,/ ECR = 60°,%4E:BC - BE = DB - DE.
iR A 6,7 EC BN F,7F AC FHLA G, 7F AB FBUN H, 1618
AH = CG = BF = BC
% BF,BG,HF, HG, V[ Al & FBC RIE =4, B S8l AH = AD = BC, HFCG
MBI, 18 HG /f EC, TR
AH _AE o AD _AE

AG AC AG ~— AB

A
DE // BG
£
Z EDB = XF = / BAD
Fi
SEDB o A DAR

#

ED _BE 4 ED _BE

AD BD BC BD
B

BC - BE = DB - DE
7 HAABCY ,AB = AC./ A = 2P, i AB LI ED 4 AD = BC,
£ / BDC o #. }
B W@ 7,00 BC HANFE AABC WNAEIE AEBC, ¥ AE. By AE I BC Y
thiEsk
£ EAC = 1P
£ OADC 5 ACEA




AD = BC = EC,AC = CA,/DAC = 2r = /S ECA

ik
AADC L A CEA
i
ZDCA = ZEAC = 10°
BT LA

ZBDC = /DAC + /DCA = 3¢

P8 &£ AABC Y. ERBCH T 5,.DEA B L, £ /BAC = 6F,
ZACB =2,/ DEC = 8P, Saupc + 285acne = V3. £ AC # ¥

B W3 ABREKE FIAF, G AF = AC,GF = AB. 3 FC, GC,
B, AFAC RIE=HT, L FGC L AABC,ACCB v ACDE.

B E 2 BC W, A

Sascg BC 2 _
Sace = (EC) =4
Brid
Sance = 45acor
bl
JTSAC?‘ = Saw = ZSMH; + Sam =
255& +4SACDE = 2( SAABC + 235@) = 21'15
A

AC? = B AC = 242
B9 £ AOABCH,LA=20,AB = AC = a,BC = b. KiE:a® + b =
3ah.
EH  WE 9.8 EXNCRTABBINHERE, F R B ETAC MRS, EF 4
% AB,AC TM,N, % BE* = BM + BA,18

2
B = &
a
Fi2&
2 2
AM:AB~BM=E—-;—b
AM - BC _ b(a® - %)
Frid
2 2
a=EF=EM+MN+NF=b+£aa+62+b
B
2 2
a=2b+ﬂﬂa+b‘)'
AN

a + b = 3a%h
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